


T B L 6/4000

f 50 50 MHz
Utr 6 5,1 k V sk

" o 7 6 kV
<a') 0,9 0,9 A
>a2) 3) 0,2 0,2 A

' V ) 0,25 0,28 A
h 2) 3) 0,3 0,35 A
Rs 2,5 2 kH
Ro‘ ) 3,85 3,3 k£2
U s/U a 15 16 %
Pr wej 6.3 5,6 kW
Pa 1,65 1.3 kW
Pr wyj 6,85 6,1 kW
V 77 76 %
Pwyj5) 6 3,3 kW

W arto ści robocze

Praca  okresow a

W arto śc i graniczne

fmax 50 MHz
U  a  max 8 kV
U  max 1,5 A
^w ej max 9 kW
p* a max 2,1 kW
" s  max - 1 2 5 0 V
U  max 0,6') A
U  max 0 ,5  J) A
* s  max 10

W arto ści robocze

r 50 M H z
u , r 5,1 kV lk
Ua 6 kV
‘ a 1,33') A
>a 0,332)3) A
ls 0,38') A
h 0.68*)1) A
K 1650 a
Ra 22004) n
us/u a 17 %
^ w e j 8 kW
Pa 2,1 kW
P . r wyj 5,9 kW
V 74 %
r w y j 6,75*) kW
*) Z obciążeniem 
2) Bez obciążenia 
8) W normalnym układzie 
4) Oporność dopasowania 
*) Moc użyteczna w układzie 

o sprawności ok. 85%

Przykłady chłodzenia
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